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ENGLISH
Fill in the blanks with correct options (from of
verbs) (Q.1to Q.5) (A) Would (B) Must
Q.1 Mysister .......in New Delhi for many (C) Could (D) Shall
years but she ... To Mumbai soon. Q.10  All students ............ obey the school
(A) Had lived, moved regulaltions.
(B) Has lived, may move (A) Could (B) Must
(C) Are able to (D) Will

(C) Will live, May move

(D) Has been living vl Select the option showing carrectly the change

from Active to Passive voice (Q.11.to Q.14)

Q.2  Poorvi..... at half past six this morning.
(A) Gets up (B) Got up Q.11 The chief taught his tribesmen how to use
h .
(C) Is getting up (D) Has got up 2SN sp.ear _
Q3 | the exhibition yet (A) The tribesmen were taught how a
. . (ﬂ;i;;"nc;t seeing short spearis used their chief.

ﬁ{ai"ThE“tnbesmen were taught how to use
;. a short spear by their chief.
_ ) The tribesmen taught the chief how to
%e'a short §Pear.

(B) Have not been seeing
(C) Haven't seen
(D) Hadn't seen

o AT Mrs. Verma, When we were in Bl X
Delhi. ) (D}“Wen taught the chief how a
(A) Have met | [ | short spear is used.
(8) Will See IYﬁou can obtain milk at the dairy farm.
~(C) Met {A) Milk is obtainable at the dairy farm.

--"(TB) Milk at the dairy farm is obtained by
you.

(C) Milk at the dairy farm obtained by you.
(D) At the dairy farm milk obtained by

(D) Are meeting
Q.5 We don’t go to school on stur'_:,_‘_ [
(A) Present Simple >
(B) Present continuous - s
(C) Past Continuous
(D) Future
Fill in the blank with correct modal {ﬂ 6 to Q.10)
Q.6 Thisdress suits h"eﬁ;ﬁ;ﬁ)de._She
Definitely like it! N 4

Q.13 You should do some exercise.
(A) Some exercise must be done.
(B) Some exercise should be done.
(C) Some exercise shall be done.
(D) Some exercise had to be done.

Q.14 We were revising lessons.

F (A) Can '~ (B) Could
(C) will (D) May (A) Lessons are being revised by us.
Q7 She.:... Visit her grandparent’s house (B) Lessons were being revised by us.

(C) Lessons will be revised by us.

during holidays.
(D) Lessons have been revised by us.

(A) Dare to (B) Ought to

(C) Can (D) Might Q.15 He has been living in this house .......
Q.8 During peak hour, it ............ take more toss PEEENE.

than two hours. (A) For (B) Since

(A) Can (B) Should (C) In (D) On

(8) Shall (D) Will Q.16  Regular exercise is conducive ...
Q.9  HOW ........... she do that to us! Healthy GSEEREEE LT

(A) In (B) to
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(C) For (D) of
Q.17 He takes pride
(A) In
(C) For
Q.18 Ravi is married
(A) With (B) to
(C) Along with (D) Off
Q.19 He was annoyed ... my brother.
(A) For (B) At
(C) With (D) To
Q.20 The shopkeeperdeals............
goods.
(A) In
(C) Under

(B) Of
(D) On

household

(B) On
(D) With
Maths
Q.21 Every rational number is:
(A) Whole number o H=aT
(B) Natural number STFd H&4T
(C) Integer 'f["ﬁ'uﬁ
(D) Real number ATEIE ABAT 11|
A  Voisa...... number. /2N
VO UF ... H&4T £l
(A) Ratlonal qﬁ'ﬁﬂ o
(B) Irrational aaf AT

(C) Neither rational orirratmnal:.

:r?ﬁcrﬁ‘rr«‘rd‘f“a‘ﬁ’ramﬁ'ﬂw

P

i

Q.23 3\/3 +"1W’6 |s%to 5";’

3v6+4V6 ZHE a7 *Jf 74
(A) 6v6 8) 7v6”
(C)4v12 3 {m 7v12

gree 20 in the following

Q24 A bmomial
is;

ﬁvﬁ‘%ﬁ 91 20 F7 U fFuE €
(A) 20X +1 (B)Ea+ 1
(€)% + 1 (D) x° +20

Q25 The value of p(t) = 2+t+2t>-t> when
t=0is
p(t) =2 rts22 -3 FT A FA=02
(A)2 (8)1

Q.26

Q.27

Q.28

Q.30

Q.31

Q.32

APIA-9,-8)
AC) (-9.8)

(C) 4 (D)0

if x +1is a factor of the polynomial 2X

+ kx, then the value of Kis:

afd x+ 1 ag*ﬁzxzwxﬁﬂw
5 Y KFT A 2

(A) -3 (B) 4

(C)2 (D) -2

The point ( 5 2) and (2,-5)

fag (-6,2) 7 (2,-9) g

(A) Same quadrant

F A T

(B) Il andil quadrant respectwelv
=T | AT T,

(C) IL. and IV quadrant respectively.

SmaripedT IV T
" D) 1 and W guadrant respectively.

g | AT W AT
Mirrummage ©of the the point (9,-8) In y-

axis is:
y-o8 ¥ f3g (9,-8) i o afafae= g

(B) (9,8)

(D) (-8,9)

The Point M lies is the IV quadrant. The
coordinates of Point M are:

g M =g gt 21 &g M F o 2
(A) (a,b) (B) (-a,b)

(C) (a,-b) (D) (-a,b)

3X+ 10 will has:

3x+ 10 § gAI:

(A) Unique solution 32T 2=

(B) Two solutions 3T &

(C) Infinitely many solutions T &

(D) No solutions FTS & Tl

The value of K, if x =1, y = 2 is a solution of
the equation 2x +3y =k

K T /T, Tf2 x =1, y = 2, THTHT0T 2x + 3y

= kT UF & &
(A)S (B) 6
()7 (D)8

If two lines intersect each other then the
vertically opposite angles are:
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qﬁﬂw"??ﬂ"ww%m uﬁr_rrrnm%ﬁwqﬁnﬂwomﬁ
(A) Equal 7787 (A) 900 cm’

(B) 900V/3 cm’
(C) 300v3 cm’
(D) 6003 cm’

(B) Unequal s#HTH

(C) Cannot be determined
are 12

9 g1 AT ST Far
(D) None of these AH # Fre Al Q.38 The equal side of isosceles triangle
Q.33 Two parallel lines intersect at: cm and perimeter is 30 cm. The area of
1 T Tt wiAsaE w8 this triangle is: dre
(A) One point T fdg W&Eﬁﬁﬁﬁfm;ﬂj
(B) Two points & f3% qf|TT 30 IITfT ?Il il st BT
(C) Three points T fag (A) 9F3€m .
(D) Null freft fiig (B) 3VISems |
Q.34 If E and F are the midpoints of equal sides () ﬁgcmz
AB and AC of a triangle ABC. Then: (D) 6v/15¢m’
7fZ E 37 F U Brgst ABC &1 79T 'gaTaaT The surface area of a cube whose edge
AB 37 AC ¥ weafag 21 99 s egualto 3 cm is:
(A) BF = AC Dy ',;-\WWWWWWW3
(B) BF = AF ) B/ anfpis a2
(C) CE = AB (Aﬁ%i‘cmz (B) 30 cm’
(D) BF = CE 54 cm’ (D) 80cm*
Q. 40’ “|f the radius of a cylinder is 4 cm and

Q .35 All the medians of a triangle areequal in
height is 10 cm, then total surface area of

case of a: ;
Wﬁwﬁaﬁmﬁmw,_};
(A) Scalence triangle/ ﬁm‘g’ﬁg’a’r :
(B) Right angled triangle t
(C) Equilateral ‘triangle mﬁ'r‘a' e ’

cylinder is:
a2 s o A e 4 G ST FATE 10
FefY 3, 91 Fer FT FA AAE AT 2
(A) 440 sg. cm
(D) Isosceles triangle 7 qﬁ%ﬁﬂ‘" (B) 352 sq. cm
Q.36 In triangle PQR if angle Q :ssm/ht angle, (C) 400 sg. cm
(D) 412 sg.cm

theds. = Oy
ELE] PQR # qﬁ FT0T Q q‘q}ﬁ'ﬂ]’ 2 ar Q.41 The surface area of a sphere of radius 14
(A) PQis the longest side cm Is: \
pQaaH FHET qAT 3 14 T 7T 180 UF WA FT THT AT
(B) @QRiis the longest side o
QR FFH FAT TTE (A) 1386 sq. cm
(C) PR is the longest side (B) 1400 sq.cm
PR FFH wdT AT T (C) 2464 sq.cm

D
(D) None of these 377 & FIS Aol (D) 2000 sq.cm

Q.42 The sum of all A
Q37 |If the perimeter of a equilateral triangle is o probilities equal to:
180 cm. Then its area will be: TATAATSAT FT F17 F9797
A (8)1 '
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e,
“J,\C?{? I‘:; Tf;;: KL X3, BNG XL ts: (A) Absorbs sOM€ heat ,
=t —— X-2 FT HTEA 2. B i
—_— (A) (X+7)/4 (B) (2x+7)/4 (B) Releases some heat
(C) (3x+7)/4 (D) (ax4+7)/4 Wﬂ‘ﬁ”ﬁ’ﬂé
oy The mean of the data 2,3,4,5,0,1,3,3,4,3 is [(}.Nrithor absorbs Nof releases hoat
=21 FT AT 2,3,4,5,0,1,33,43% - 5 aroff i AT FE gATAT
(A) 2 (B) 2.2 =T 3
o s fD} Absorbs exactly 3.34 X 105_J/kg OF PRES
Q.45 Diameter of the base of a cone is 10.5 cm £ 3.34 x 105 )/K8 o AT et
and its slant height is 10 cm. The curved e
{ surface area is: Q.48 Bn converting308 K, 329K and 391 K 1O
T i ¥ T F ST 10.5 5 & AT T elsius seffle; TR@Rarrect saen®S of
= feelt S=TE 10 U 8) AT temperatiuresill be: .
TAE 7 308 K, 3zg1v<ﬁ’rrsss'11<?:«‘rirf‘=‘q"7""’*"”;r
(A) 150 sg. cm wqﬁqﬁqmﬂfmﬂmﬂ"ﬂqﬁﬂ
(B) 165 sg. cm L
(C) 177 sq.cm . (4)33°C,56 o¢ and 118°C
(D) 180 sg. cm ﬁ.@f}a‘;i;" (8) 350C. 56%G and 119 oc
SCIENCE :{%ﬁ | (0)35°C, 56°C, and 118 e
Q.46 Which one of the following statements is = ',f nysﬁoc 119°C, and 35 c
not true? ,,f.' H,, \ 4Which of the following phenomena
ﬁﬁﬁﬁ?a’ﬁ'mmmaﬂ#ﬁ? /{ways results in the cooling effect?
Freferfaa & & fo =2 T 1 i

(A)  The molecules in a solid vrlﬁ%ﬁaﬂho "
fixed position ' € Zaer offaed T grar 27
T 2§ A9 TR (A) Condensation TqIAT
FTAZ .1\ o v/ (B) EvaporationaTﬂtﬁﬂT’“T
(8) The molecuﬁ‘n liquid r€ arranged i (C) Sublimation FHATTTT
regularm\‘ (D) None of these 375 & FIE 720
T ATA 72T Q.50 The molecular formula of potassium
ZAAT ZTA 2 nitrate is:
5 = ..‘.I'- “ Ies in aW}u/ert negligibly qraforgy Argee FT srorfaes 17 2
___,-___: each other, except during (A) KNO3 (B) KNO
mmslons (C) KNO; (D) KON
- g & A TF-FHL T Q.51 The atomic mass of sodium is 23. The

number of moles in 46g of sodium is :

mﬂﬁ"ﬂa'%i

(D) The molecules of 3 gas occupy all the ARy F71 T F=HTE 23 2146 TTH
space available aqfEaw ® Hrew £ qeAw 8
hmmqﬁmmﬁﬁfﬁrﬁ (A) 4 (8)2

Q.47 When water at 0°C freezes to form ice at ()0 (D) 0.05
the same temperaturé of 0°C, then it: Q.52 Which of the following respresents a
=4 0°C T oret 5re &7 0°C & HATA correct chemical formula?

AT 9 o 79T 7, RURES
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Q.54

Q.55

frraferfaa o @ o adt iR g Q.56
F1 wfafafae avar 272

(A) CaCl (B) BiPO4

(C) NaSO, (D) Na$

The process of plasmolysis in plant cell is
defined as:

= waTe gfrarfea B T 8

(A) Breakdown of plasma membrane in
hypotonic solution.

Sttt = § et fEret w6 2z
(B) Shrinkage of cytoplasm in hypertonic
medium.

AT WIS W QTS a6
frgeam

(C) Shrinkage of Nucleoplasm.
fFeaTeTsy #1 fFEa

(D) None of these. 398 ¥ &% :I'%ﬁl

If the displacement of an object is

Q.57

proportional to square of time, then the a 58

object moves with:

a%ﬁ':ﬁaﬁgwﬁmmwﬁ%ﬁﬁ

(C) Increasing acceleratnon Tﬁ?l‘lf’aa'@r
(D) Decreasing acceleration Tt Tlﬁ
Which of the following can. somevmes be
Zero’ for a moving body?

ey T AT R AT 2

(i) Average velocity A 9

(ii) Distance travelled AT £ gl

(iiii) Average speed st A

faeaTa=

Q.59

(iv) Displacement
(A) Only (i) FA i _
(8) (i)and (i) i AT T
(©(yand (v) 3TV

(D) Only (iv) FAT IV

: , () 10r#7’§' 2

When a car driver travelling at a speed of
10m/s applies brakes and brings the car to
rest in 20s, then the retardation will be:
s 10 frzz/aaz £ afa @ grar #79
ATAT T FTT ATAF AF AAT 2 AT 20
frz B FT AT ATITH ZAT 2, AT HEAT 21T
(A) +2m/s’ (B) -2m/s’
(C) -0.5m/s’ (D) +0.5m/s’
A car of mass 1000 kgis moving with a
velocity of 10m/s. If the velocity time
graph for this car is a harizontal line
parallel to'the time axis, then the velocity
of the car at the end of 25s will be:
1000 kg ZSAATA # TF FIT 10m/s F 7T
%’awr@?ﬂ uﬁww#ﬁvaﬂm
|\ T TSR, AT U Ffast AT 2,
»mzsm%m#waﬂww
J"‘/(B) 25m/s
= (D) 250m/s
Th|_=_l numerical raito of displacement to

. _distance for a moving object is:

FT HEATHF AT o

(A) Always less than 1

THAT 1 A FH

(B) Equal to 1 or less than 1

1FaET I 1 9 F9

(C) Always more than 1

qag 1 | Afd®

(D) Equal to 1 or more than one

197 UF | A F a7ra7

An object of mass 2 kg is sliding with a
constant velocity of 4m/s on a friction less
horizontal table. The force required to
keep the object moving with the same
velocity is:

2 3T =T it s 7eg i w2
AT 75T 97 am/s F A v forarer
TE 1 TR AT A AT A T
for s 7= 2

(A)32 N (B) ON

(C) 2N (D) 8N
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When a balloon held between the hands

Is pressed, its shape changes. The
happens because:

BT & i T ey Y 74T 9% e
EDNED

(A) Balanced forces act on the balloon
(B) Unbalanced forces act on the balloon
T 9 FHAT a9 7 F7 &

(C) Frictional forces act on the balloon
ST A AT 9T T Fq F

(D) Gravitational force acts on the balloon
TECETFH G AT TT HH F7a7 2
The speed of a car weghing1500 kg |
increases form 36 km/h to 72 km/h

uniformly. What will be the change in
momentum of the car?

1500 AT ot w17 it 7y 7o =1
q 36 /=T F 72 i eer 7% 77 9
2l mﬁﬂﬁﬁwwﬁaﬁﬁ‘hﬁ?‘\\

(A) 15000 kg km/h  (B) 1500&1@, m/s

(C) 54000 kg m/s

(A) Accelerated
(B) Retarded. Lt
(C) Along cit tracks

(D) Uniform T #HTA

A ball weighing 4 kg of density 4000 kgm->
is completely immersed in water of
density  10° kgm-’. What will be the
buoyant force acting on it?

4000 kgm 3 S ATAT 4 kg TS UF 7
103 kgm'3 =T AT 9T H 08 %% 2

Q.64

Q.65

S rrerr TECATAA A
FTd & Ta T Frq A A

AT Z117? N
(A) 100N (B) 10
(C) 1600N (D) 16N

Chosse the correct unit for the relative

density among the following:

ﬁmﬁﬁ‘ﬁf & r qrerer AT & o wE
(A) kg/cm (B) unitless =H1e 72T
(C) kg/cm (D) kg/m

Two objects of differentmasses falling
freely near the surface of moon would:
<t AT Az F T FaA =7 A [{
i v T A1 v A

£'|A) Havexdifferent accelerations
":.(:'B_L,Undergo a change in their inertia

ITHRESEA | a5ATE
(C) Have same velocities at any instant
3fr ot eqor | A

< (D) Experiences forces of same magnitude

Ve T i erfR F AT T

Q.67

Q.68

When a body falls freely towards the
earth, then its total energy.

ST Fré T E = & el Ay e
Rrear &, t 37 gor st 2t 2

(A) Decreases FH T ATAT %’

(B) Increases Iz4T ?

(C) First increases and then decreases
TR AT & oh e e 2

(D) Remains constan TR+ LS

Which one of the following is not the unit
of energy?

Feferfm & a9 ol A TS A4S 27
(A) Kilowat fF=ram=

(B) Kilowatt hour feTaTe Hat

(C) Joule Sf=

(D) Newton meter A Wi

The form of energy possessed b
bird is:

y a flying

IGM GURUKULAM GTSE 091/A
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Q.69

(A) Kinetic energy fast st (B) Bhutan ¥2ZT
(B) Potential energy ¥afast urt (C) Nepal AT

(C) Both kinetic and potential energy (D) Myanmar ATHT?

wfer ste Rorfiror st v Q.74 Whatis the position of India in the worl®

in respect of area?

(D) Can’t say Fg Fel qFHAT
s A gfe & e A7 fava & w1 AT

Two objects of masses 1 x 10-’kg and 4 x

10-" kg have equal momentum. What is T 27
the raito of their kinetic energies? (a) 8" (B) 7th
1 x 10-3 3T 3% 4 x 10-3 &R F=rwe (c) 6" (D) 2% W
£ 21 Al 1 F4T A {1 T AT Q75 Whatis the position of India in the wo
ST *T T 2? in respect o_fuacea?
(A) 2:1 W(B) 4;%; T fpar 5 1 AT
(C) 1:4 (D) 1:2 SRk = )N )
Q.70 The work done on an object does not (ALJ“ 17"
depend upon the: Ficye™ (D) 2%
e J I T T w1 3w 9w e Q.76 Troplc of" Cancer passes through which of
J81 FAT 7 *these states J
(Aj Angle Bétween force and displacement 'a‘ g g | ETFT ATAT
T A Fegres F = F1 A ' -';%}“
(B) Force applied & 41T e T 'a.*“ ff‘ssa a2
(C) Initial velocity of the object %\ |8 ‘(I'npura [EREA
e T TR A o ¥7(c) Bihar fagTT
(D) Displacement ﬁ@ﬂﬂ?““" ?f‘),‘ v b N (D) Punjab 9ITal
SOCIAL Sﬂ\y 3 The northern most range of the
Q.71 The tropic of Cancm‘d?_ %;::g;;::;gw AT &
through @ B ‘ :
ﬁmwﬂqﬁﬂvﬁ%ﬁa ._ (A) Humadrlw
(A) Rajasthan TEFEITT (5 (B) Lesser Himalaya ¥ fesTerr
(8) Odisha 24T * () Shivalik faaTfers
(C) Chhattisgarh ar??wa (D) None of the above. 7 & F1< o |
o) Tnpili?ﬁ‘lﬂ v/ Q.78 Et:(::::.Natlonal park is located in the
; ongitude of India is ]
S Thmﬁzma;?g T ET I R vew | g &
(A) 9725’ (B) 68°7'E (A) Assam HTH
(C) 77°E (D) 82°32°E (B) Uttar Pradesh 3d% q29r|
Q73 Uttarakhand, Uttar Pradesh, Bihar, West (C) Madhya Pradesh W& wargr
‘ gengal and Sikkim have common frontiers (D) Rajasthan TTT=AT
with Q.79  The soil containing calcareous de posits is
eTEE, I TR, fagTe, afEm @i locally known as:
i Fara A e HaTd e A T st 1w sy
(A) China =T & T ST 2
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(A) Bhangar HIT3TZ. (A) The Ganga T
(B) Bhabar WY (B) The Brahmaputra A&7
(C) Khadar @127 (c) The Indus A
(D) Kankar FTH7 (D) The Kaveri L
Q.80 Lake chilika lies in the state of Q.85 The World's largest drainage basin is of
e =frer e 215w & fore 22 the e
(A) Jharkhand =TvEe Py o Ry AST A (AATHT AT 27
(B) Telangana 3= T_T (A) Amazon river AU AT
(C) Odisha Frf2er (B) Nile river 1o T
(D) Tamil Nadu ‘crfﬁ‘q:rrg (C) Ganga river T LEU AR
Q.81 Mountain ranges in the eastern part of (D) Hawang Hao:river ZaBI &1 Sl
india formoing its bnoundary with Q.86 Which oneof the following peninsular
Myanmar are collective called as river of India flows west and makes
WA F Tt 97 § =792 F |7er ey estuaries?
(A) Hiamchal fEwT== ~
(B) Uttarakhand 3@ | (A) ThexKrishna FooTT
(c) Purvachal Tai=« o) (B);FThe Mahanadi AT
(D) None of these None of these _ || (@)The Godavari TT=Ta7T
Q.82 Who wrote an influential pamphlié;t:f;;what jm The Tapi AT
is the third Estate? & NN Q.87 ~Which one of the following lake is
oS T T £ ATHE THETALA RS _artificial?
(A) Mirabeau H1¥T@ ) /4 (A) Sambhar #T¥T
(8) Abbe Sie yﬁ‘ o .."‘!, W s
(C) Jean- PaufMarat -7t w772/ (C) Pulicat Tfrz
(D) Olympew _\ges. & S | (D) Rana Pratap Sagar TUIT SATT T
Q.83 According to th ;;:c;;_rlstitution of Q.88 Which of the peninsular rivers is called the

mbly was to be ‘Dakshin Ganga’?

ST 82
[y A’ g ctly #Ter 7 (A) The Mahanadi =T
(B) appointed by the king 71T ZT<T fAer (B) The Krishna W
(C) Elected indirectly T &7 § (C) Godavari Tty
FRatf=a (D) The Tapi ardt
(D) A hereditary body T 41T Q.89

The valley of Kashmir i
; mir is fa
Q.84  Which river is called the Dihang when it mous for the

EFW ﬁ ‘q"ra- =~ -
enters India in Arunachal Pradeh. (A fr o wfag EL,
- ‘ ) Dal Lake = 2frer

ST TReT 7 | § A FIA 9T F 1A :

. (B) Houseboats zrerer=
ﬁmﬁmﬂmﬁg? (C) Shikaras f?rub-ﬁ- it
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Q.90

Q.91

—6gF= Six persons Prudvi, viplav, Ravali, Sitara,

X‘

Q.92

(D) All of the above FU¥ & T+ff
The river Narmada has its source at
AHaT AEY FT IEH A E -

(A) Satpura FATET

(B) Dal ==1

(C) Amarkantak HHTFCA

(D) Gobind Sagar TTaZ AT

Q.93

MENTAL ABILITY

If TAP is coded as SZO, then how is

FREEZE coded?
uﬁmpﬁszo?ﬁwﬁﬁ%ﬁﬁmm

2, ar FREEZE FT 1 Frfeq A strar 22
(A) EQDFYG (B) ESDFYF
(C) GQFDYF (D) EQDDYD

Q.94

Taman and Udit have different heights. _.,ﬁ“f’f;" p
Taman is shorter than Ravali. Sitara is ‘
taller than two person.Prudviis shorter

than Viplay, but taller than Ravai_i;;pnly

Udit is taller than Viplav. Who isthe third

| S
L=
£

tallest? y

T e & G e AR TP,
it 21 speefy P A 2, At A
(A) Ravali TTATHT B
(B) Prudvi Tf& s
(C) Viplav famra
(D) Taman T8
In a row, Rahul is 30" from the front and
45" from the back. How many people are
standing in that queue?
ﬂ_ﬁ‘iﬁﬁﬁ,ﬂgﬁa‘{ﬁrﬁw‘c’(ﬁrﬁa%
453 T 97 21 IF FATL | fFaT A ae
27
(A) 72
(B) 73

(C)74

Q.96

Q.97

Q.95 .

(D) None of these None of these

Rank of Kamla is 8 ahead that of vidya in

students 42. The rank of

a class of total
k of

vidya is 26. NOW calculate the ran

kamla.

w42ﬁaﬁaﬁmaﬂﬁmﬁﬁ
i & 81 2 Fragr f7 ¥ 26 21 9
e A1 ¥ Y AT FE
(A) 23 (B) 244,
(C) 25 (D) 26\
In a row of boys, one tree
16" fromdéft and 8" from.sight.
the number of bays who should be
removed tomake it a total of 17.
AR i, O AT A 167
rsﬂfﬂﬂiraﬁrxmw?ﬁ 3 SHI AT

Qo 1 o o g ST AT

is ranked as
Calculate

R

lmz  — (B3
(C)4 (D)6
A ¢ brother of B. B is the son of C. D is

~C's father then what is A of D?
A, BT TS 21 B, CHT 77 £1 D, CFT AT
& &1 D FT A FIT 2
(A) Brother WTE
(B) Son F2T
(c) Grandson 91T
(D) Grandfather 3TaT
A is the father of Cand D is son of B. E is
brother of A. If C is sister of D, how is B
related to E?
A, CHTIIET 2 ST D, BFT 4 &1 £, A 77
R AR C o T 2, Arp, Ecrﬁm
(A) Brother \TS
(B) Sister @&+
(C) Brother in law HT=T
(D) Sister in law Sister in law
A woman introduces a man as the son of

the brother of her mother. How is th
man related to the woman? :
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Q.98

Q.99

U AEAT UF W #7 qfey st At
T AT TG 22

(A) Nephew WeTHT

(B) Uncle =THET

(C) Son 2T

(D) Cousin F=7T

A man said to lady, §our mother’s
husband’s sister is my aunt’. How is that
lady related to that man?

e AT T HIEET & oy, 7 A F iy A
T A ST | A Wi 3 T

(A) Daughteré"ﬁ'

(B) Grand daughter'ﬁ?ﬁ

(C) Sister g

(D) Mother |T

Pointing to a photograph, a man said, “I
have no brother or sister but that man’s
father is my father’s son”. Whose
photograph was it?

J "'?'nother of B an%ﬁs husband of C,
then wﬁatm fod D7

gz cHFTOfa 2, ar A

(A) Aunty =Tt

(B) Mother wf

(C) Sister T2=

(D) Mother in law Mother in law+
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